SX-02

P.1




P.2

SX-02

5
A

/7 ‘

& & \
, ©

/ ) 0/

w @k i \
® R




P.3

SX-02

3508-12"




B M6x42 C @15x10 D M5x40 E @8x40 F M3.5x14 | G M3.5x12
7 g 7
32 PCS 8 PCS 54 PCS 12 PCS
I J K M6xL12 L M6X@28 M DW N 220-96
@
S = e~
g | F o &
4 PCS 8 PCS 4 PCS 4 PCS 4 PCS 1 PCS
O M4x18 P Q S @ At
—\ 10mm
» O
g © ':%;’ 3
‘ 12mm @
2 PCS 8 PCS 8 PCS 4 PCS 1 PCS 1 PCS 1 PCS

This Cam Lock Fastening

System will be used

throughout the assembly process




SX-02 P.5

F M3.5x14

«&&&QQ@(@

(aaof EEe G=e o oof

Disconnect the keyboard rail with the BLACK
PLASTIC PART.It needs to be pulled down to
disconnect the runners.

D M5x40

%@

4 PCS




SX-02

P.6

A Mb5x42

4 PCS

A Mb5x42

&

4 PCS




P.7

8 PCS




SX-02

P.8

S . ) ‘(-@(i(,‘((zr.('(v'(;(’- ((Z('

h \\\\ TN \('Gﬁf("(f( éﬂﬁ

\4@(% ((Z('

F M3.5x14

«&&&QQ@(@

16 PCS




SX-02 P.9

L M6X@28

4 PCS

N

| & i :
00
o
(>
A o




SX-02

P.10

10

D M5x40

.
.
>
.
.
.
.
///
- N
P
P
P
.
&
.
.
" C
g8 A
| %
O TN C .
(@2}

A Mb5x42

&




SX-02

P.11

A Mb5x42

B M6x42

C @15x10




SX-02

13

K MéxL12

@)

4 PCS




SX-02 P.13

14 F M3.5x14 | Q
= &>
8 PCS 8 PCS

Tear off the tape and apply it to the
plate, Then press it firmly with your hand

F and Q installed as needed.




P.14

SX-02

©
8 PCS
F M3.5x14

@@33?

8 PCS

— 7
)\\

&

15

F M3.5x14

@yugﬁy

2 PCS

16

/




SX-02

P.15

D M5x40

18

A Mb5x42

&5

4 PCS

N 220-96

&

2 PCS

O MA4x18

2 PCS




P.16

SX-02

@@gﬁ?

G M3.5x12

4 PCS

4 PCS
G M3.5x12

8 PCS

19

20

X 2




SX-02 P.17

F M3.5x14




P.18

SX-02




